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1. Which	of	the	following	are	true?

a) ,0	≤	θ	≤	90°	=		−	cosec2	 θ cot2	 θ 1

b) ,0	≤	θ	≤	90°	=		+	sec2	 θ tan2	 θ 1

c) ,0	≤	θ	≤	90°	=		+	sin2	 θ cos2	 θ 1

d) ,0	≤	θ	≤	90°	=		+	cosec2	 θ cot2	 θ 1

e) ,0	≤	θ	≤	90°	=		−	sec2	 θ tan2	 θ 1

f) ,0	≤	θ	≤	90°	=		−	sin2	 θ cos2	 θ 1

(i) {b,a} (ii) {a,c,e} (iii) {d,c} (iv) {d,a,c} (v) {f,b,e}

2. =
	+	1 tan2	 θ

	+	1 cot2	 θ

(i) 1 (ii) sec2	 θ (iii) cosec2	 θ (iv) tan2	 θ (v) cot2	 θ

3. Which	of	the	following	are	true?
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d)

	=		
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e)

	=		+	

	
	cosθ

	
	 	−	1 sinθ
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(i) {c,a} (ii) {e,b} (iii) {c,a,b} (iv) {a,b,d} (v) {c,e,d}



4. Which	of	the	following	are	true?

a) 	=		+		
	 ( 	+	sinθ cosθ ) 2 	

	 ( 	−	sinθ cosθ ) 2 	
	2

b) 	=		
	 	−	cos3	 θ sin3	 θ

	
	( 	+	sinθ cosθ )( 	−	1 sinθcosθ )

c) 	=		
	 	+	cos3	 θ sin3	 θ

	
	( 	+	sinθ cosθ )( 	−	1 sinθcosθ )

d)

	=	

	
	cosθ

	
	 	+	1 sinθ

	
	 	−	1 sinθ

	
	cosθ

e) 	=		
	 ( 	−	sinθ cosθ ) 2 	

	 	+	1 sin θ2

f)

	=	

	
	secθ

	
	 	+	1 cosecθ

	
	 	−	1 cosecθ

	
	secθ

g) 	=		
	 ( 	+	sinθ cosθ ) 2 	

	 	+	1 sin θ2

(i) {b,a} (ii) {e,g,a} (iii) {e,c} (iv) {a,c,d,g} (v) {f,b,d}

5. If 	q= ,r= then	+	cosθ sinθ cosθsinθ

(i) 	=	(q2	 +r
2
	 ) 1 (ii) 	=	(q2	 +r

2
	 ) 0 (iii) 	=	(q2	 −r

2
	 ) 1 (iv) 	=	q2	 (2r+1) (v) 	=	q2	 (−2r+1)

6. If 	s= ,t= then	+	cosθ sinθ 	−	cosθ sinθ

(i) 	=	(s2	 −t
2
	 ) 1 (ii) 	=	(s2	 −t

2
	 ) 2 (iii) 	=	(s2	 +t

2
	 ) 2 (iv) 	=	(s2	 +t

2
	 ) 0 (v) 	=	(s2	 +t

2
	 ) 1

7.
a) = c2	(u+v)2

b) 	=	(u2	 −v
2
	 ) c2	

c) 	=	(u2	 +v
2
	 ) c2	

d)
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	u
2
	

	
	v
2
	

tan2	 θ

e) 2uv =c2	 sin θ2

(i) {a,c,d} (ii) {a,b,e} (iii) {b,d} (iv) {c,d,e} (v) {a,c}

8. If 	c=s +t 	and	d=s −t ,	thencosθ sinθ sinθ cosθ

(i) 	=	cd st (ii) 	=	(c2	 +d
2
	 ) (s2	 +t

2
	 ) (iii) 	=	(s2	 +c

2
	 ) ( t2	 +d

2
	 ) (iv) 	=	(c2	 −d

2
	 ) (s2	 −t

2
	 )



 1)	(ii)  2)	(iv)  3)	(iv)  4)	(iv)  5)	(iv)  6)	(iii)

 7)	(iv)  8)	(ii)
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